Decision:
TNW = 345
MLUSUGAR = 380 X 2 = 760 (Add two decimal places) = 7.60
WPS = 332/44 = 7.55
CPS = 59/44 = 1/34
Note compound verbs in #3 (saw and went), 26 (take and wear), and 51 (was and got). Numbers refer to utterances after clauses separated by hitting “Enter”.
Embedded clauses are tricky in #6-7, 28-29, 33-34, and 40-41. Remember to look for the noun/pronoun subject and the accompanying verb.
[bookmark: _GoBack]Child at 67 months or 5;7 years is above the mean in every category so most likely does not have a language impairment.
